HPE_CIEF02-cone sensitivityymax(A)=1

I'F02,10)=B11XFo2,1(A)+B12Y Fo2,1(A) +B13ZF02,10)
Byj 0,2105 0,8550 -0,0396\{570)
2,01 PO0O0: erozyl(x):23,67
Xe02,20,3616 yg0p =0,3533
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HPE_CIEF02-cone sensitivityymax(A)=1
SF02,1M)=B31X Foz,1(A)+Bazy Foz, 1(A) +Baazroz, 1(N)
B3 0,000 0,000 0,5168 A¢-445)
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MEo2, dN)=B21XFo2, dN)+B2yFo2, dN)+B2sZroz, 4
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HPE_CIEF02-cone sensitivityl jy44(A)=1
Tro2,iM)=[B11XFo2,fA)*+B12Y Fo2,iN)+B1aZro2,i(M)]
Byj 0,2105 0,8559 —0,0396\{570)
200\ m 515, 575, 626 PO0: 3T £p d1)=103,86
Tro2dA m2=2.25, 4,51, 2,2
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CIEFO2 spectral tristimulus valuesymax(A\)=1
Xro2,10N)=A11l Fo2, 10 +A12MFo2 1N +A135F02,1(N)
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CIEF02 spectral tristimulus valuesymax(A\)=1
YF02,10)=A21! Foz2, 1M +A2aMEo2, 10 +A23SF02,1(N)
Ay 0,6899 0,3483 0,000 A545)
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Yo=Vro240)  XFo2,1=0,3616 yegp 70,3533
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Y2=A20ME02,1(A)
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CIEFO2 spectral tristimulus valuesymax(A)=1
Yr02,10)=A21l Fo2,10)+A20M ko2, 1M +A235F02,1(N)
Ay 0,6899 0,3483 0,000 A¢545)
P0O0: 2y FOZ,l()\):22’79

Xe02,170,3616 Yo, 1=0,3533

a=Yr02,1Aa)/MrEo2,1(Aa)
-0=Yro2,10a)/! Fo2,1(Aa)
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® . Adaptation:
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Yo=Yroz,1)
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20MFp2,1(A) -
10F= - === — .

0,0

CEN41-7A_P00

CEN41-8A_P00

CEN40-7R




